1 fi
2 {7
3 i1
4 {1
5 {1
6 {11
7 {1
8 {11
9 fi
10 {iI
11 fi
12 {i]
13 {1
14 i1

[1541]
16 fiI
17 fi1
18 fiI
19 fi1
[204]
21 fi1
22 fi
23 fi1
24 fi;
[25fi]
26 fi1
27 fi1
28 fi1
29 fi1
[304k]
31 fi1

32 fi

SH2FE10 I IASS =1

$i02% 10878 F1—2

GROSS HDCP NET REMARKS
INGR  1ERS 44 44 88 | 22.0 66
Eih A= 38 40 78 11.0 | 67
Bhi5 8 a1 40 81 14.0 | 67
= =& 42 36 78 10.0 | 68
SN B 40 38 78 | 10.0 | 68
IH FbH 39 40 79 11.0 | 68
T X a4 46 90 | 220 | 68

AB 1B 38 37 75 6.0 @ 69 BG
B RME 38 a1 79 | 10.0 69
FE ZF 40 40 80 | 11.0 | 69
N Bl a4 a4 88 | 19.0 | 69
2N n— 44 40 84 14.0 | 70
K = 43 42 85 | 15.0 | 70
=% B’k 42 44 86 16.0 | 70
SH %2 49 50 99 29.0 70
s =Y 46 43 89 18.0 71
S8 1E[ 44 45 89 18.0 71
vt B8 38 41 79 7.0 72
&% X a1 44 85 13.0 72
e IE— 44 47 91 19.0 72
ST S=h 40 43 83 10.0 73
e #B 46 43 89 15.0 74
B2 s 44 42 86 11.0 75
bR BE= 41 47 88 13.0 75
ik 6 49 42 91 16.0 75
wmE —3 43 46 89 13.0 76
AiE =X 44 48 92 16.0 76
KE T 49 51 100 | 21.0 79
g H 53 48 101 22.0 79
B B8 46 50 96 16.0 80
== 545 46 a7 93 12.0 81
R 13 46 50 926 14.0 82

Nl

5A




1 {17

2 fiy

3 {1

4 fi

5 {11

Si2F108 LT+ —AHI

GROSS HDCP NET REMARKS
g B 38 40 78 8.0 70
BE =K 40 44 84 | 130 71
B ST 42 a3 85 14.0 | 71
B ERF 43 43 86 | 14.0 72
Tk A= 43 45 88 | 16.0 | 72
RR BERIF 45 47 92 | 20.0 72
LB =ERF 56 48 104 | 32.0 | 72
A IR 39 39 78 5.0 73
A KFF a1 a1 82 | 9.0 73
BAEB MEF 43 41 84 | 110 73
BE E=x 43 42 85 12.0 73
AN IEF 43 45 88 15.0 73
I BF 45 48 93 20.0 73
NN HE8BF 56 55 111 38.0 73
=t FF 46 43 89 15.0 74
% BETF 48 48 926 22.0 74
B VUF 49 50 929 25.0 74

BN BFEE 38 39 77 2.0 75 BG
A =R a1 44 85 10.0 75
TH 5 45 47 92 16.0 76
A4 kF 42 51 93 16.0 77
I EEF 49 53 102 25.0 77
EE F2F 53 52 105 28.0 77
w0 B=x 49 43 92 14.0 78
At+E WF 49 46 95 17.0 78




